5"-2" | DN8-DN50 | ANSI CLASS 900

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Valve dimensions

| ° |
i
H
D K —
c _
q
YT
oD IDf=-—-—-—- - -—-—-— R
y A
@ f Preparation
i - for actuation
s
A-TCI/ A-TCD
A-ETI / A-ETD

W &2 172"
without nut with nut

oW T T M 2" a Stem flats
< show valve
\I_I ball position
ExFl;CtBread N thread
1SO 1127 Tube Sized

Pipe
oD
DIREEE mm | 14300 14.000 1720/ 146.50/ 101.50. 24.50. 31.40/ 4030/ 63.90/150.00/ 53.70/ 5.54

Std. port Unit

AETI ATCI| B

665 (FO3) | 36.00 080/ 10

3
%" inch 056 055 068 576 399 097 124 159 252 591 211 022 7 UNF 026 142 MX10 55995
PIEERN mm 1575 1810 2130 14660 102001 2460 3600 4500 67.90 150001 5210 554 5 o' 665 (FO3)| 3600 pyoyqo 100 29
70BN inch 062 071 084 577 400 097 142 177, 267 591 205 022 % 0.26 142 210 34
DIPIM mm. 2210 2370 2690 1678 118001 3550 4350 6100, 8480/ 18700 6045 754 5 o | 740 (FO4)| 4200 pyeyyo | 170, 53
0B inch 087 093] 106 660 465 140 171 241 334 736 238 030 * 029 165 380 62
DIPERN mm. 2540 2070 3370 17930 13370, 41.30/ 4270 6020 841018700 71.70 754 | 740 (FO4)| 4200 yjevo | 250 49
1 inch 100 117, 133 705 526 162 168 237 331 736 282 030 0.29 165 553 57

BINEPES mm | 3810/ 3840 4240 20030 15890/ 56.30 48.30/ 77.80/101.80/237.00. 96.90| 8.71 76 UNF 850! (FO5) | 50.00 Mexi2 450 102
1" inch  1.50/ 151 167/ 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
DIEOES mm | 38100 4430 4830/ 200.30 15890/ 56.30 48.30/ 77.80/101.80/237.00 96.90| 8.71 96 UNF 850! (FO5) | 50.00 Mexi2 | 450 102
1%" inch  1.50/ 174, 190 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
DIEDES mm | 5080 56.300 60.30)232.60 213.00/ 72.60 70.00/ 88.10/ 115.10/237.00/ 108.00 8.71 96 UNF 13.50! (FO7) | 70.00 Maxi2 2200 208
2" inch! 2000 222/ 237/ 915 838 286/ 276/ 347/ 453/ 933 425 034 0.53 2.76 21.000 241

Ball | Pipe | Pipe
port | ID oD

AETD ATCD

BLROES mm | 11.15/ 1000 13.00/ 140,60/ 88.80. 20.60/ 29.00/ 379 61.50/150.00/ 47.00| 5.54 ¥ UNF 6.65 (FO3) | 36.00 M5X10 060/ 26
3" inch 044 039 051/ 553 649 081 1.14/ 149 242 591 185 022 0.26 142 133/ 30
IR mm | 15.75) 16000 19.00/ 146,60/ 102.00. 24.60/ 36.00/ 4500 67.90/150.00/ 52.10| 5.54 3% UNF 6.65 (FO3) | 36.00 M5X10 1.00/ 29
%" inch 062/ 063 075 577 400 097 142 177 267 591 205 022 " 0.26 142 210 34
BLPLES mm 2060/ 20000 23.00/ 164.10/ 114300 31.70| 3810/ 55.60. 79.40/187.00/ 63.70| 7.54 3% UNF 740 (FO4) | 42.00 M5X10 160/ 28
3" inch 0811 079 091 646 4500 125 150/ 219 313/ 736 251 030 " 0.29 1.65 354 32
IPEEE mm | 2540/ 2600 29.00/ 17930/ 133.70. 41.30| 42.70| 60.20. 84.10/187.00| 71.70| 7.54 76 UNF 740! (FO4) | 42.00 Msx10 | 220 49
1" inch  1.00/ 1.02/ 114/ 705 526/ 162/ 168 237/ 331 736/ 282 030 0.29 1.65 553 57

INEPES mm | 31.80) 3200 35.00 18940 139.70| 4840 43.60/ 73.00/ 97.00/237.00 86.70 8.71 76 UNF 850! (FO5) | 50.00 Mexio 360 69
1" inch 125 126/ 138/ 745 550 191/ 172/ 287 382 933 341 034 033 1.97 796 80
IEOES mm | 38100 38.000 41.00/ 20030 15890/ 56.30 48.30/ 77.80/101.80/237.00. 96.90| 8.71 96 UNF 850! (FO5) | 50.00 Mexi2 450 102
1%" inch  1.50/ 150 161/ 788 625 222/ 190/ 306 401 933 382 034 033 1.97 995/ 118
IEDES mm | 5080 50.00 53.00/232.60 213.00/ 72.60 70.00/ 88.10/ 115.10/237.00/ 108.00| 8.71 96 UNF 13.50! (FO7) | 70.00 Max12 2200 208
2" inch! 2000 197/ 209/ 915 838 286/ 276/ 347/ 453/ 933] 425 034 0.53 2.76 21.000 241

264 | KDHABOMM | SANITARY VALVES




#:"-2" | DN8-DN50 | ANSI CLASS 900 HHH

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Components & materials

Item | Description Material specification Item | Description Material specification

Body Acc. Ordering Code
Ends Acc. Ordering Code
Ball Acc. Ordering Code
Stem Acc. Ordering Code
Seat Acc. Ordering Code
Inner seal PTFE

Outer seal Acc. Ordering Code
Stem thrust seal | VIRGIN PEEK, PCTFE
Anti-abrasion ring | VIRGIN PEEK, PCTFE
Stop pin S. Steel

Stem seal CF PTFE, TFM
Follower S. Steel

1108 Slide bearing S. Steel
Disc spring S. Steel
Stem nut S. Steel
Locking clip S. Steel
Handle S. Steel
Serrated washer  |S. Steel
Handle nut S. Steel
Sleeve PVC
Body bolt S. Steel
Anti-static spring | S. Steel
Anti-static plunger |S. Steel
Tag (not shown)  |S. Steel
¥ Repair kit components

FE e P I NS T I NG T I NG Y I U i N O

JE N I < N S [ U A S U N S

SANITARY VALVES | FEDHABONIM | 265




215"-4" | DN65-DN100 | ANSI CLASS 400

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Valve dimensions

Preparation
for actuation

PN

Stem groove
shows valve
ball position -

—  ATCI/ATCD —— !
-~ AFTI/AED ————— N

N thread -

Square

oW—-—6-—-"—-"—-— © e ¢ HABONIM )2

1SO 1127 Tube Sized

Ball | Pipe | Pipe ' Weight, Kv

port| ID | OD AETI|ATCI w M M-DD| N TxL ka/lb | cy
DI mm 63.50 72.10) 76.10283.40 215.80| 83.30 98.30/144.90/185.00400.00/140.00/18.90/15.90| 1"-14 [16.70/22.70 (F10) 102.00 MI10X20 13.70] 300
21" inch. 250 284/ 300 1157 849 328 387 571 729 1575 550 0.74 063/UNS-2A 066 0.89 4.02 30.30| 348
DIEDEE mm 82.60 84.30) 88.90319.80/245.40/108.80/114.10/160.70/200.00 600.00/177.00/18.90/15.90| 1"-14 |16.70/22.70 (F10) 102.00 M10X20 23.70/ 615
3" inch 325 332/ 350 1259 966 428 449 633 789 2362 697 074 063 UNS2A 066 0.89 4.02 5240713
1\NI00F mm 100.00/109.701114.301390.00 268.80/123.00/124.00/170.50/211.00/600.00217.00/18.90/ 15.90| 1"-14 [16.70/22.70 (F10) 102.00 M10X20 30.00| 744
4" inch 394 432 450 1535 1058 484 488 671 830 2362 854 074 063 UNS-2A 066 089 4.02 66.30 863

Ball | Pipe | Pipe
port| ID | OD

L mm 63.50] 66.00) 70.001283.40215.80 83.30| 98.30/144.90185.00/400.00/140.00(18.90/15.90| 1"-14 |16.70/22.70 (F10)102.00 13.701 300

AETDATCD, B

M10X20
PAZAERNinch 2500 260 276 1157 849 328 387 571 729 1575 550 074 0.63/UNS-2A| 066 0.89 4.02 30.30| 348

LD mm 82.60) 81.00) 85.00/348.80245.40/108.80/114.10/160.70 200.00/600.00/177.00(18.90/15.90| 1"-14 [16.70/22.70/ (F10)102.00 M10X20 2370|615
3" inch 325 319 335 1373] 966/ 428 449 633 789 2362 697 074 063 UNS-2A 066 0.89 4.02 5240 713

L0 mm 100.00/100.00/104.00/390.00/268.80/123.00/124.00/170.50211.00/600.00 217.00{18.90/ 15.90| 1"-14 |16.70/22.70 (F10)102.00 M10X20 30.00) 744
4" inch 394 394 409 1535 1058 484 483 671 830 2362 854 074 063/UNS2A 066 0.89 4.02 66.30 863

266 | (EDHABONIM | SANITARY VALVES




215"-4" | DN65-DN100 | ANSI CLASS 400

1ISO 1127/ DIN 11850 Floating Ball 3 Piece

Components & materials

Item | Description Material specification Qty.

Body Acc. Ordering Code
Ends Acc. Ordering Code
Ball Acc. Ordering Code
Stem Acc. Ordering Code
Seat Acc. Ordering Code
Inner seal PTFE

Outer seal Acc. Ordering Code

Support ring

S. Steel

Stem thrust seal

VIRGIN PEEK, PCTFE

Anti-abrasion ring

VIRGIN PEEK, PCTFE

11082 Slide bearing

Stop pin S. Steel
Stem seal CF PTFE, TFM
Follower S. Steel

S. Steel

[ N [P B N I NS T S T NS T RS R NG S

Material specification

S. Steel 2
S. Steel 1
S. Steel 1
S. Steel 1
S. Steel 1
Wrench head S. Steel 1
Wrench bolt S. Steel 1
Sleeve PVC 1
Body bolts S. Steel 8-12
Anti-static spring | S. Steel 2
Anti-static plunger|S. Steel 2
Tag (not shown) |S. Steel 1

¥ Repair kit components

SANITARY VALVES | K‘BHABOMM | 267




